

Office	Voting By	Number (District, Seat)	County Other Than Fresno	Incumbent	Nomination/Sponsor s' Signatures	Filing Fee	Signatures In-Lieu	Value Per Signature	Candidate Statement Pre-Payment Required	Term of Office (Years)	Term Begin Date
PRESIDENT AND VICE-PRESIDENT											
US President and Vice President	County Wide			Joe Biden and Kamala Harris			<u>www.sc</u>	S.CA.GOV/ELECTIO	<u>NS</u>	4	Monday, January 20, 2025
				UNTED S	STATE	S SENATO	R				
US Senator (Partial)	County Wide			Laphonza Butler (D)	65-100	\$3,480.00	7,000	\$0.497143	N/A	Unexpired Term	Friday, January 3, 2025
US Senator	County Wide			Laphonza Butler (D)	65-100	\$3,480.00	7,000	\$0.497143	N/A	6	Friday, January 3, 2025
				UNITED STATES HO	USE (OF REPRE	SENTATI	VES			
	t	5th	Amador, Calaveras, El Dorado, Mariposa, Tuolumne, Madera, Stanislaus	Tom McClintock (R)	40-60	\$1,740.00	2,000	\$0.87	\$2,080.00	2	Friday, January 3, 2025
US Representative In Congress	20th	13th	Merced, Madera, San Joaquin, Stanislaus	John Duarte (R)	40-60	\$1,740.00	2,000	\$0.87	\$1,200.00	2	Friday, January 3, 2025
		20th	Kern, Kings, Tulare	Kevin McCarthy (R)	40-60	\$1,740.00	2,000	\$0.87	\$2,700.00	2	Friday, January 3, 2025
		21st	Tulare	Jim Costa (D)	40-60	\$1,740.00	2,000	\$0.87	\$5,500.00	2	Friday, January 3, 2025



Office	Voting By	Number (District, Seat)	County Other Than Fresno	Incumbent	Nomination/Sponsor s' Signatures	Filing Fee	Signatures In-Lieu	Value Per Signature	Candidate Statement Pre-Payment Required	Term of Office (Years)	Term Begin Date
				CALIFORNIA MEMI	BER OF	THE STATE AS	SEMBLY				
State Assembly Member	By District	8th	Calaveras, Inyo, Madera, Mariposa, Mono, Tuolumne	Jim Patterson (R)	40-60	\$1,226.94	1,000	\$1.22694	\$2,250.00	2	Monday, December 2, 2024
		27th	Madera, Merced	Esmeralda Soria (D)	40-60	\$1,226.94	1,000	\$1.22694	\$800.00	2	Monday, December 2, 2024
		31st		Joaquin Arambula (D)	40-60	\$1,226.94	1,000	\$1.22694	\$2,250.00	2	Monday, December 2, 2024
		33rd	Kings, Tulare	Devon Mathis (R)	40-60	\$1,226.94	1,000	\$1.22694	\$500.00	2	Monday, December 2, 2024



Office	Voting By	Number (District, Seat)	County Other Than Fresno	Incumbent	Nomination/Sponsor s' Signatures	Filing Fee	Signatures In-Lieu	Value Per Signature	Candidate Statement Pre-Payment Required	Term of Office (Years)	Term Begin Date	
FRESNO COUNTY JUDICIAL OFFICE												
		1		Amythest Freeman	20-40	\$2,323.99	6,972	\$0.3333	\$6,000.00	6	Monday, January 6, 2025	
		2		Virna L. Santos	20-40	\$2,323.99	6,972	\$0.3333	\$6,000.00	6	Monday, January 6, 2025	
	County Wide	3		Stephanie L. Negin	20-40	\$2,323.99	6,972	\$0.3333	\$6,000.00	6	Monday, January 6, 2025	
			4		David E. Muñoz	20-40	\$2,323.99	6,972	\$0.3333	\$6,000.00	6	Monday, January 6, 2025
		5		William J. Terrence	20-40	\$2,323.99	6,972	\$0.3333	\$6,000.00	6	Monday, January 6, 2025	
Superior Court Judge		6		David Kalemkarian	20-40	\$2,323.99	6,972	\$0.3333	\$6,000.00	6	Monday, January 6, 2025	
Superior Court Studge	County	7		Michael Idiart	20-40	\$2,323.99	6,972	\$0.3333	\$6,000.00	6	Monday, January 6, 2025	
		8		Mary Dolas	20-40	\$2,323.99	6,972	\$0.3333	\$6,000.00	6	Monday, January 6, 2025	
		9		Robert G. Mangano	20-40	\$2,323.99	6,972	\$0.3333	\$6,000.00	6	Monday, January 6, 2025	
		10		Jonathan Skiles	20-40	\$2,323.99	6,972	\$0.3333	\$6,000.00	6	Monday, January 6, 2025	
		11		Geoffrey Wilson	20-40	\$2,323.99	6,972	\$0.3333	\$6,000.00	6	Monday, January 6, 2025	
		12		Pahoua Lor	20-40	\$2,323.99	6,972	\$0.3333	\$6,000.00	6	Monday, January 6, 2025	



Office	Voting By	Number (District, Seat)	County Other Than Fresno	Incumbent	Nomination/Sponsor s' Signatures	Filing Fee	Signatures In-Lieu	Value Per Signature	Candidate Statement Pre-Payment Required	Term of Office (Years)	Term Begin Date
	FRESNO COUNTYWIDE OFFICE										
	75	2		Steve Brandau	20-40	\$1,387.10	4,161	\$0.3333	\$1,500.00	4	Monday, January 6, 2025
County Supervisor	By District	3		Sal Quintero	20-40	\$1,387.10	4,161	\$0.3333	\$1,080.00	4	Monday, January 6, 2025
	В	5		Nathan Magsig	20-40	\$1,387.10	4,161	\$0.3333	\$1,500.00	4	Monday, January 6, 2025
Democratic Committee	Supervisorial 1,2,3,4,5	23			20-40	N/A	N/A	N/A	N/A	4	
Republican Committee	Supervisorial 1,2,3,4,5	23			20-40	N/A	N/A	N/A	N/A	4	
Peace and Freedom Committee		7		On file with the Elections Office	20-40	N/A	N/A	N/A	N/A	4	
American Independent Committee	Caud	cus Me	eting		20-40	N/A	N/A	N/A	N/A	4	
Libertarian Committee	No	t on Ba	llot		20-40	N/A	N/A	<u>N/A</u>	N/A	4	
Green Committee		7			20-40	N/A	N/A	N/A	N/A	4	
				CIT	Y OF F	RESNO					
Mayor	By			Jerry Dyer	20-30	\$500.00	500	\$1.00	\$3,500.00	4	Tuesday, January 7, 2025
	By District	2		Mike Karbassi	20-30	\$300.00	250	\$1.20	\$650.00	4	Tuesday, January 7, 2025
Council Member		4		Tyler Maxwell	20-30	\$300.00	250	\$1.20	\$650.00	4	Tuesday, January 7, 2025
		6		Garry M. Bredefeld	20-30	\$300.00	250	\$1.20	\$650.00	4	Tuesday, January 7, 2025